AR R ET
Miniature Cylinders

FA Z& 3%l FA Series

FONRAY®

442k Features

® flaid :

FRASHAS, FRERGRE, EEERETRE,
O mHE; MAlE:

FEBIRABRAFEME, EEAME. Eakit,

Non lubrication
@ Special housing and bushing
enables self lubrication of piston rod.
High quality long service life

s 2 @ Hard anodised stainless steel
O HE AR : ) ; 8
= N cylinder tubes offer a high resistance
kgizu;#if]ﬁmilg%%z% ISO # it HARE %, to corrosion and low internal friction.
O AR RIFR R @ Cylinder mountings, available
HEBERBR T REGREUIIZ1TIE, FHE with a comprehensive range of
AN REL accessories for rigid or flexible
[ E2:3i42: 8 mounting.
sBEEARIERER T2, fEmeE, @ Operation,with the exception of
5 FA-11,single and doubling
Z 5B
O S RIUHN type available-FA-13/15.
e ' Magnetic as standard.
##& Specification o
#U5E Model FA
FEIPE 16 20 25 32 40
s 4= 100 Tube I.D. ( mm)
1E#4TIER Table for standard stroke  —===sy
Sl M5 x 0.8 PT 1/8
1 =rT] ort Size
RUELHIE 712 prayp
Tube 1.D. Stroke (mm ) Mo di'len = =& Air
16 15, 25, 50, 75, 100 mAERR AN >
BEyn Max. Operating Pressure 7 kgffem
Single -
Acting ®20, 25, 32 15, 25, 50, 75, 100, 125, BINERAEAH 18£8 Double 0.6 kgf/cm®
150 Min. Operating
Pressure EE &) Single 1.5 kgf/cm®
15, 25, 50, 75, 100, 125, '
16 150, 200, 250, 300, 350, ﬁgjrog;fj]pressure 10 kgf/cm®
BEE 400, 450, 500 SEAE :
Double En!)ien?Temperature -5C ~+60C ( &% No freezing )
Acting 15, 25, 50, 75, 100, 125, e N i
20, 25,32, 40 | 150, 200, 250, 300, 350, Lubricator T4 Not required =
400, 450, 500 EREEGE =
Available Speed Range 50~500mm/sec o ﬂ
s dEfE =S TN =
o ARRAATIRINATRR, WRRBAR. {£8 Matching the BA20~BA40 3&% band c &R
3% Stroke out of specification is also available. RD-201 : =
% Please consult us if stroke out of specification. RERERAR (R ) #&7 Matching the BGS20~BGS40 54 band o ﬁ
Sensor Switch (band) RCM &t Matching the BM16~BM40 5#5 band Q E
RCS 8 Matching the BJ16 3k#% band 5 ﬁI
Y . Qo
= : ¥ FFERARARA S BM16, 16 BRANE, )
ﬁﬁlmﬁ%&ﬁ% Orderlng COde % The code of sensor switch band is BM16. "16"represents the tube I.D. a

FA-11-32 M 100-A-N-BSP 2 #E g 44F Mounting accessories “

18 | 2T /—| =1
2 TPV 712 ‘ FA - FA -32
S Tube I.D. Stroke . L
N: SR (RHET ) ‘
5 Blank: with pivot type
ag R N: non-pivot type
1. B M: Ki#EH - q i
2. SH: FWEE . mEms Al SRELAIE
1: Single Rod Magnet Code A: FEREER Model Tube |.D.
2: Double Rod M: Magnet (220 SRELMEREA )
Blank: Without Blank: with cushion pad Al 8 o - R )
EB AR /1285 5F B :Style magnet A: with adjustable cushion mE PT &F Z%A50: Mounting type
o ey = BSP:BSP ZF
oo T B ofl —Tfp LB
Code Symbol Description NPT:NPT F
; N Port thread
111 ‘EIN T . Blank: Rc thread FA
Double acting/Male thread G:G thread
113 SINEEINF NPT: NPT m FB
Single acting/ Normally extended male thread thread
115 R RBIN T a8 | sos
Single acting/ Normally returned male thread - —
SaiiEE N T i e Y
21 :%E: Double rod/Male thread i i| — 5 |
!I
EERIAITIZINT 'l o
2(7 gz%E:' Double rod/Adjustable male thread
please make"adjustable distance(mm)"at order list




Miniature Cylinders

FO"RAY® FA %35l FA Series

% &R / SME R ~F Dimensions / Double acting ®16 ~ ®40

GA
GB
RH
B2 7T 2-P Mg ¢cD®
B1 AH MB y ‘
w« N o i i
° Bl R ‘
o — =T l'::r'::f’
w
[ 10 N S | | LN e +u
- :
A ] ]
VF K1 H+{T#2 stroke K2 XF
T T
WF LL+47%2 stroke L
XC+{T4& stroke
A ZC+{T#8 stroke
K i K
x Y ) gl Gl Y )
= — | F= — =5
VF K1 | H+1T#2 stroke | K1 VF
T i
WF LA+{T#2 stroke WF+
A ZM+2 X 1772 stroke A
ZN+2 X 17#2 stroke

w adjust stroke
<
KK {T* = [Ir* T © AD / AK
| i | i
Yy ol W H
E \l/
A/
WF LA+173Z stroke | WH-+T72 stroke
T T
A ZP+2 X 4718 stroke AA+ 1712 adjust stroke
ZQ+2 X 17#8 stroke + AIFATHE adjust stroke
8% Code

D A |AA|AC |AD | AF [AH [ AR | AS AK B1|B2|CD| D E EW GA | GB H KK
16 16 16 13 | 75| 12 5 4 8 M5 x 0.8 10 | 22 6 6 |19.7| 12 5% 5 5 34 M6 x 1.0
20 20 19 15 | 95 | 16 5 5! 13 M8 x 1.25 13 | 30 8 8 [267| 1632 | 7.5 7.5 40 M8 x 1.25
25 22 19 15 | 95 | 16 5 5 13 M8 x 1.25 17 | 30 8 10 [29.7| 16 39 7.5 7.5 40 M10x 1.25
32 22 18 12 7 20 5 6 17 | M10x1.25 | 17 | 382 | 10 | 12 | 86 [ 16 3% | 7.5 | 10.5 | 37 M10 x 1.25
40 30 18 12 7 30 7 7 19 | M12x1.25 | 19 | 41 12 | 14 | 45 | 2039 | 75 | 105 | 42 M12x1.25

8% Code

T D K1 |K2| L |LA|LL MB P RH| VF [ WF |WH | XC | XF | ZC | ZM | ZN | ZP | ZQ
16 10 10 9 54 | 54 M16x 1.5 M5 x 0.8 6 12 22 195 | 85 16 92 98 130 | 95.5 [127.5
20 15 15 12 | 70 | 70 M22 x 1.5 PT 1/8 6 12 18 19.5 | 100 21 109 | 106 | 146 |107.5(146.5
25 15 15 12 70 70 M22 x 1.5 PT 1/8 6 15 27 225 | 109 21 118 | 124 | 168 [119.5|160.5
32 15 18 14 | 67 | 70 M24 x 2.0 PT 1/8 8 18 30 24 114 24 124 | 127 | 171 121 161
40 15 18 16 | 72 | 75 M30 x 2.0 PT 1/8 8 17 27 24 118 28 130 | 126 | 186 | 123 | 171

WEA



FONRAY®

Miniature Cylinders

FA Z& 3%l FA Series

B FEBHRA Sensor switch: RD-201
Bt FEBARA 5k & Sensor switch band: PN**

L FERARAZEE Installation of sensor switch ®20 ~ ®40

fan)
\\)

m|_
\J

{E==2

fX5% Code
7Z Tube I.D. A c
20 33 46.5 9 18 26
25 H515! 50.5 9 18 26
32 39 57 9 18 26
40 43 65.5 9 18 26
REFEBARA Sensor switch: RD-201
B FEBABA SR &= Sensor switch band : BGS**
—
] AN —
u_ T
D
| [
s :
9% Code
7Z Tube I.D. A B Cc D E

20 25 38.5 18 30.5 26
25 25.5 40.5 18.5 31.5 26
32 29 47 22 39 26
40 33 5585] 26 47 26

=
5.
a
g€
(]
(9]
<
=
[}
®
(7]




Miniature Cylinders

FO" RAY® FA %35l FA Series

BERRIZEE Installation of sensor switch ®16 ~ ©40

B FEBARA: RCM Sensor switch: RCM
B HERARAsk&%. BM** Sensor switch band : BM**

| [l |
el ) — ——— == —
U [
—— | G
D
G| E
<
Y
[a] ~H7
A
5% Code
F4E Tube 1.D. A B c D E
16 20 30 10 16 28
20 22 36 10 16 28
25 25 40 10 16 28
32 28 46 10 16 28
40 32 55 10 16 28

EifEBARA : RCS Sensor switch: RCS
B RERARAAY. BJ 16 Sensor switch band : BJ 16

D
i C
<
@ i |
4
5% Code
M1E Tube 1.D. A B c D E
16 23.4 33.3 6 12 22

| 21



Miniature Cylinders

FO"RAY® FA %35l FA Series

#HR / EERSMERT Dimensions / Double acting @16 ~ ®40

RH
B2 | 2-P
B1 A MB f |

T T

KN e T T

( © R no|

> e Sezzpzy

w
] -
1 - ____Eg__ N 1 S I I | S
A/
VF K1 H+4T%2 stroke K2
I I
A WF LL+1T#2 stroke
ZD+17%8 stroke
3% Code

P FalTD) A |[AH|B1|B2| D | E |GA|GB| H KK K1 | K2 | LL MB P RH | VF | WF | ZD
16 16 5 10 22 6 [19.7]| 5 5 34 M6 x 1.0 10 10 | 54 M16x 1.5 M5 x 0.8 6 12 22 92
20 20 5 13 30 8 |26.7| 75| 75 | 40 M8 x 1.25 15 15 70 M22 x 1.5 PT 1/8 6 12 18 | 108
25 22 6 17 30 10 |29.7| 75 | 75 | 40 M10x 1.25 15 15 | 70 M22 x 1.5 PT 1/8 6 15 27 | 119
32 22 6 17 32 12 36 | 7.5 |10.5| 37 M10x 1.25 15 18 | 70 M24 x 2.0 PT 1/8 8 18 30 | 122
40 30 7 19 41 14 45 | 7.5 | 10.5| 42 M12x1.25 15 18 | 75 M30 x 2.0 PT 1/8 8 17 27 | 132

228577 4 Mounting accessories

1]
LB
LB N =
— 7 EI“'
2
LB-®16 S| T 1 @ e £ &%
a — o
A =B
=l 2 &l
| | c @ wise 2
A ZC+1T7#2 stroke
LB

-20 ~d40

|

|

|

|

|

|

!
Sabe

SC+1T#2 stroke ‘
SA+{T#2 stroke

SB+1T#2 stroke

8 Code

o A | CB|CH|cCL|cCa]|cCT|cw]|cx KK SA | SB | sC | swW | sx | zC
16 16 55 20 13 6 3.2 44 32 M6 x 1.0 80 95 34.4 9 31.8 92
20 20 6.6 25 15 8 3.2 54 40 M8 x 1.25 100 111 46.4 3 29.8 109
25 22 6.6 25 15 8 3.2 54 40 M10x 1.25 100 120 46.4 12 38.8 118
32 22 6.6 32 25 8 4 59 45 M10x 1.25 120 133 28 5 51 124
40 30 6.6 36 25 8 4 64 50 M12 x 1.25 125 135 33 2 48 130




Miniature Cylinders

FO"RAY® FA E&3l FA Series

BN | REER4 Mounting accessories / Double acting ®16 ~ ®40

FA-D16

<K
—\ Y
A/
W FT
H- ZF+§7#E stroke
A ZC+{T7E stroke
2-¢FB FP
FF
3% Code
o) A |(FB|FE | FF | FP | FR | FT KK W [ ZC | ZF
16 16 | 55 | 26 52 40 3.2 M6 x 1.0 18.8 | 92 79.2
20 20 | 6.6 | 38 64 50 4.5 M8 x 1.25 135 | 109 | 92.5
25 22 | 6.6 | 38 64 50 45| M10x1.25 | 225 | 118 | 101.5
32 22 | 6.6 | 47 | 72 58 | 33 [ 45| M10x1.25 | 25.5 | 124 | 104.5
40 30 [ 6.6 | 50 84 70 36 [ 45| M12x1.25 | 22.5 | 130 | 105.5
o
4-0F8/ | | FP !
FF

A XC+1772 stroke

CH

CE

| A |CA|CB|CC|CD|CE|CH|CT|CW|CX| KK |XC
16 16 15 | 55 12 6 23 20 | 23 M6x 1.0 85
20 20 16 | 6.6 | 32 8 48 32 32 | 67 51 M8 x 1.25 100
25 22 16 | 6.6 | 32 8 48 32 32 | 67 51 M10x1.25 | 109
32 22 18 | 6.6 | 36 10 52 36 4 67 51 M10x1.25 | 114
40 30 20 | 6.6 | 40 12 56 40 4 69 53 M12x1.25 | 121

| 23



Miniature Cylinders

FO"RAY® FA 23l FA Series

B BRI / SMBIR~T Dimensions / Single acting ®16 ~ ®32

GA GB
RH [ 7 ™ .
B2 [ | 2P ug 6CD
B1 ~1AH MB
KK o 7 A
© Ll | |
e R 11— ——————{—?——m
S
\__/ ? ] ]
VF K1 H K2
WE ‘ LL ' L
A XC z
% Code
e A |AH{B1|B2|(CD| D E EW |GA|GB KK K1[{K2| L MB P RH|VF |WF|YP| Z
16 16| 5 |10 (22| 6 | 6 |[19.7 1239 | 5 | 5 M6x1.0 | 10| 10| 9 | Mi6x1.5 |M5%x08| 6 |12 |22 | 5 | 7
20 20| 5 | 13|30 | 8 | 8 | 2671659 |75|75| M8x1.25 |15 |15 | 12 | M22x1.5 | PT1/8 | 6 |12 |18 |75 9
25 22| 6 | 17|30 | 8 |10 |29.7 [ 1659 | 75|75 | M10x1.25 | 15 | 15| 12 | M22x15 | PT1/8 | 6 |15 |27 |75 9
32 22| 6 |17 32|10 |12 | 36 | 16359 | 7.5 |10.5| M10x1.25 | 15 | 18 | 14 | M24x2.0 | PT1/8 | 8 | 18 | 30 | 7.5 | 10
3% Code
17#2 Stroke H LL XC
15 | 25 | 50 | 75 | 100 | 125 | 150 | 15 | 25 | 50 | 75 | 100 | 125 | 150 | 15 | 25 [ 50 | 75 | 100 | 125 | 150
M1E Tube 1.D.
16 64 | 74 | 114 | 154 | 194 84 | 94 | 134 | 174 | 214 115 | 125 | 165 | 205 | 245
20 80 | 90 | 140 | 190 | 240 | 290 | 340 | 110 | 120 | 170 | 220 | 270 | 320 | 370 | 140 | 150 | 200 | 250 | 300 | 350 | 400
25 80 | 90 | 140 | 190 | 240 | 290 | 340 | 110 | 120 | 170 | 220 | 270 | 320 | 370 | 149 | 159 | 209 | 259 | 309 | 359 | 409
32 77 | 87 | 137 | 187 | 237 | 287 | 337 | 110 | 120 | 170 | 220 | 270 | 320 | 370 | 154 | 164 | 214 | 264 | 314 | 364 | 414

=
3,
=
£
o
(2]
<
=
[=X
(]
@

& 8h Double Rod

KK T T KK
A/
VF K1 H K1 VF
I I
WF LL WF+{T#2 stroke
A ZZ+1T7#2 stroke A
3% Code
17#2 Stroke H LL zZZ
15 | 25 | 50 [ 75 | 100 | 125 | 150 | 15 | 25 | 50 | 75 [ 100 | 125 [ 150 [ 15 | 25 | 50 | 75 | 100 | 125 | 150
M1E Tube 1.D.
16 64 | 74 | 114 | 154 | 194 84 | 94 | 134 | 174 | 214 125 | 135 | 175 | 215 | 255
20 80 | 90 | 140 | 190 | 240 | 290 | 340 | 110 | 120 | 170 | 220 | 270 | 320 | 370 | 146 | 156 | 206 | 256 | 306 | 356 | 406
25 80 90 140 | 190 | 240 | 290 | 340 | 110 | 120 | 170 | 220 | 270 | 320 | 370 | 164 | 174 | 224 | 274 | 324 | 374 | 424
32 77 | 87 | 137 | 187 | 237 | 287 | 337 | 107 | 117 | 167 | 217 | 267 | 317 | 367 | 167 | 177 | 227 | 277 | 327 | 377 | 427




Miniature Cylinders

FO"RAY® FA E&3l FA Series

BEER / REF 4 Mounting accessories / Single acting ®16 ~ ®32

_FA(FB) _ _

KK I
_\ —
] | |
| X - |
A/
W FT FT
ZF+17%2 stroke
A ZC+17%2 stroke
| A | FB | FE | FF | FP | FR | FT KK w
16 16 5.5 26 52 40 3.2 M6 x 1.0 18.8
20 20 6.6 38 64 50 4.5 M8 x 1.25 135
25 22 6.6 38 64 50 4.5 M10x 1.25 22.5 )
32 22 6.6 47 72 58 33 4.5 M10x 1.25 25.5
#K%% Code
g z¢ i 468
e
78 1T 15 | 25 | 50 | 75 |100|125|150| 15 | 25 | 50 | 75
16 121131171 (211 | 251 109.2|1119.2|159.2|199.2
20 |146] 156|206 | 256306 | 356 | 406 |132.5]142.5[192.5]242.5
25 155|165|215(265|315| 365 |415|141.5|151.5(201.5|251.5
32 162 | 172|222 (272|322 | 372 | 422 |144.5(154.5|204.5(254.5

121
16.7

SDB-$20~®32

A XC+1712 stroke

Y

ﬁ/\_/\_l
4-$CB
3% Code 5% Code XC
A |[CA|CB[CC|[CD|CE|[CH|CT|CX|CW KK g
4E Tube I.D. troke
16 16 | 15 |55| 12| 6 | 23 | 20 | 23 M6x10  WETuwelD 15 | 25 [ 50 | 75 | 100 | 125 | 150
20 20 |16 |66 32| 8 [ 48|32 (32]51 |67 | Mex1.25 16 107 | 117 | 157 | 197 | 257
25 22|16 66|32 8 [ 48| 323251 |67 [Miox1.25 20 139 | 149 | 199 | 249 | 299 | 349 | 399
32 2218 |66| 36|10 |52|36| 4 |51 |67 |Miox1.25 25 141 | 151 | 172 | 222 | 272 | 322 | 372
32 142 | 152 | 173 | 223 | 273 | 323 | 373

| 25



Miniature Cylinders

FO"RAY® FA %35l FA Series

BEB)R / ZEBH Mounting accessories / Single acting ®16 ~ ®32

1]
LB-®16 b d
Y 1\
® ‘k'_'":%_ @ S
AN/
j\
»u CB (& Wide)
. A zc
LB-®20 ~d40
I vy
=T % h —
) il il —
) - 4157
T W/ A M:L
O H U h_/
lcQ, cL | | S
I
# CB (FLHole) SX ! ‘ =
SA =
SW 1 g- ssly
SR
=
ofF
RESel A CB CH cL c cT cw cX KK swW sX %

M1E Tube 1.D. Q <= E
16 16 55 20 13 6 3.2 44 32 M6 x 1.0 9 31.8 3 &
20 20 6.6 25 15 8 3.2 54 40 M8 x 1.25 3 29.8 ‘..;

25 22 6.6 25 15 8 3.2 54 40 M10x 1.25 12 38.8 i
32 22 6.6 32 25 8 4 59 45 M10x 1.25 5 51
5% Code

1742 Stroke SA zC

g 15 25 50 75 100 | 125 | 150 15 25 50 75 100 | 125 | 150
16 110 120 160 200 240 121 131 171 211 251
20 140 150 200 250 300 350 400 146 156 206 256 306 356 406
25 140 150 200 250 300 350 400 155 165 215 265 315 365 415
32 160 170 220 270 320 370 420 162 172 222 272 322 372 422




FONRAY”

Miniature Cylinders

FA &%l FA Series

Y $%#88 Connnector

D8~P16

D20~D40

EFERL{E Accessories ©8 ~ 940

| #358 Connnector

M M | M
L L | , L
] | | |
9 o A O
al - f} — 1 = a I © '_"d)“'_'_ ST
\—
- |
H C x| H © "—‘H KK
— KK C
. ﬂd’ ] ann X, ‘ ——
YT [T N T [
e T L T CET—d—]
1 T 1
; ~ | / ! |
‘ o X KK |
Y&, | & EBER~TEForY. |connector
3 Code B C CH D G H KK L M X
14 Tube 1. Y | | Y | Y I Y [ | Y | Y |1 Yy | i
8,10 4 8 8 8 8 M4 x 0.7 16 20.75 4 oo
12, 16 6 6 | 12| 8 [ 12 12 [ 12 [ 12 | 10 M6 x 1 24 |21 | 31 [28]6 2%
20 8 8 16 | 14 | 16 16 14 | 16 | 16 | 12 M8 x 1.25 32 | 32 | 42 | 42 |8 5
25, 32 10 | 10 | 20 | 17 | 19 19 18 | 20 | 20 | 15 M10x 1.25 40 | 40 | 52 | 52 [1050°®
40 12 | 12 | 24 | 21 | 22 22 20 | 24 | 24 | 18 M12x1.25 48 | 48 | 62 | 62 [120°°
FTEE RS Ordering Code
T P: B0
/4 H .
#hH Pin Pin FAI RIS P: with split pin
Tube I.D. At
£ Y: Y & | EEEEA
L= F5E Model . i
T . Fl: ®8~12 M{E&F For d8~12 SDB: ?%Zmﬁ@m
< 2 Tube 1.D. Y: ForY &I t
D8~D16 = —— - o (1) FA: ©16-40 F{EF For 016-40 SPB: For SDB aceessory
, B c
| A (B1£8) 2-F (I fE)
' 2-E
®E ;
i S g
< . 3 ©
~ a S L & [I]
©20~D40 2 —(4 2
c | B ’ c
B C I I
! A GCED) A
)
Y & | BB RS R~T% ForY & | connector SDB B3 FL F#EE R ~F % For SDB
8 Code nERBA O 84 % Code mE
7€ Tube I.D. - . E D” 2 E Split pin PJ7E Tube I.D. L = c D= | E Split pin
8,10 12 | 85 | 2 |4 22| & | o7 E3 ($n) 8,10 18 | 14| 2 |4 38|07 ] E32
12,16 185 | 15 | 2 |6 %2| 10 | 07 | E4(#®) 12 235|195| 2 |6 4% |07 | ES
20 245 | 205 | 25 |8 3% | 12 | s25 | 25x16KL 16 21 |17 | 2 |6 3R |07 E5
25, 32 30 | 25 [ 35 [109%] 14 [ w32 | 32x20&L 20, 25 30 | 25 | 25 |8 358 | 0.9 E7
40 37 | 30 | 5 [1229%| 16 | ¢32 | 32x20&L 32 33 | 27| 3 |10355 | 09 E9
40 37 [ 31 | 8 [122% [ 09 E9

| 27






